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MANAGEMENT
PAPER — Il

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
questions are compulsory.

1.  Which of the following are the assumptions tethto the theory afonsumer behaviour as
per the Cardinal Uity approach ?
(i) Consumer is rational.
(i) No limit on money income.
(ii)  Utility cardinally measurable.
(iv) Diminishing marginal utility of money.
(v) Diminishing marginal utility of commodities.
(vi) Maximization of satisfaction.
(vii) For calculating total utility, individualtilities of commodities are to be multiplied.

Codes :
@) (i), (i), (iii) and (iv) (2) (iv), (v), (vi) and (vii)
3) (), (i), (v) and (vi) @) (i), (iv), (vi) and (vii)

2. Which one of the following is not thegperty of Cobb-DouglaBroduction Function ?

(1) The multiplicative form of the poweuriction can be changed into its log-linear
form.

(2) Power functions are not homogeneoeisduse the sum of tlexponents is not equal
to degree 1.

(3) The parameters in the function a and fire@sent the elasticity coefficient of output
for inputs (capital anthbour) respectively.

(4) Constants a and b in the function represiare of inputs capitand labour in total

output.
3. Statement — | : Costs which do not take the form adsh outlays, nor do they appear in
the accounting system are krnowas opportunity costs.
Statement — Il : Costs in the form of depreciatioicavances and unpaid interest on the

owner’s own funds are known as sunk costs.
(1) Both the statements are correct.
(2) Both the statements are incorrect.
(3) Statement — | is correct while Statement — Il is incorrect.
(4) Statement — 1 is incorrect while Statement — Il is correct.

4.  Which one of the following is incorrect comhition with regard to the types of market
structures ?
No. of firms and degree of product

Markeg Structure differentiation

Control over price

gl) Perfect competition Large number of firms with None

\ homogeneous products

(2) Monopolistic Many firms with real or perceived Some

" ¢ Competition product differentiation
(3)  Oligopoly Little or no product differentiation Some
and many firms
(4)  Monopoly Single firm with close substitute Some
Paper-Ill 2 J-17-16
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5. Which one of the following is not studied in Macro-Economics ?

(1) General Theory of Employment, Interest and Money.
(2) Marketstructureand Pricing decisions.

(3) ForeignTrade.

(4) Theories of economic growth.

6. Statement | : Although culture plays a significantleoin personality development, a
linear relationship cannot be estabég between culture and personality.
Statement Il : The existence of several sub-&mst within the same culture cannot
influence the personality.

Paper-Ill 4

(1) Statement Il is correct, but Statement | is incorrect.
(2) Statement | is correct, but Statement Il is incorrect.
(3) Both, Statement | and Il are correct.
(4) Both, Statement | and Il are incorrect.
7. Match the items of List — | with the itemsloft — Il and find the correct combination :
List — 1 gList— M
(Thinker) (Pop’ularly known for)
(@ F.W. Taylor () Generatedterest in people at work place.
(b) F.J. Roethlisberger (i) Emphasized on human needs of employees.
(c) Robert Owen (i) Human prokmsgwére considered as main
element of human.‘.‘FeIation.s.
(d) Elton Mayo (iv) Consideredrganization as a social system.
Codes :
(@) (b) (c) (d)
@ @ Gy i)y ()

2 O (v () (i)
@ 0O i) (v) (i)
4 (v) (i) (i) (i)

The group formation theory explaining afftien based on spatial proximity is called
(1) Homan’'sheory (2) Propinquityheory
(3) Balance theory (4) Exchange theory

Assertion (A) : Intra-individual conflict is perhaps the most difficult type of conflict to
analyse, since it is internal to the person.

Reasoning (R) :Conflict arises within an individual whenever his drives and motives are
blocked and/or he is confronted with cagtipg roles and goalsnd he is unable to
take decisions.

Codes :

(1) Assertion (A) and Reasoning (R), batte correct, and Reasoning (R) is correct
explanation of Assertion (A).

(2) Assertion (A) and Reasoning (R), batre correct but Reasoning (R) is not right
explanation of Assertion (A).

(3) Assertion (A) is correct, veneas Reasoning (R) is incorrect.

(4) Reasoning (R) is correct, wkas Assertion (A) is incorrect.
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10. Match the items of List — | with List Il related to communication models :
List — | List—1I
(@) Lasswell Model () Comuomication process based on
information theory.
(b) Shannon-Weaves Model (ii) Differeshapes of pess depending upon

situation.
(c) Gerbner's Model (i) namic interactive process.
(d) Berlo Model (iv) Communid#on is a persuasive model.

Codes :

() (b) (c) (d)
@ 0 (i) (iv) (i)
(2 (i) (iif) (i) (iv)
Q) (i)  (iv) (i) (i)
4) (v (i) (1) (iif)

11. Match the items of List — | with the itenof List — || and selet the correct code.

List — | A List T
(@) Planning () Getting othhe to get the job done.
(b) Organizing (i) Setting /standards /such as sales Quotas,
quality standards, efc.
(c) Leading (i) Establisltig goals:@nd standards.
(d) Controlling (iv) Giving eaclsubordinate a’specific task.

Codes :
() (b) () (d)
1 () (i) (iv) (i)
@ O (i) (iv) (i)
) (i) (i) (iv) (i)
(4) (i)  (v) (i) (if)
12. Which one of the following media will be most suitable when a company wants to
limit recruiting to a specific area ?

(1) Radio and Television (2) Magazines
(3) Newspapers (4) Internet

13. Select the correct sequencetlwd job evolution process.

(@) Select benchmark jobs. (bEvaluate select benchmark jobs.

(c) Analyse benchmark jobs. (d) I8 the most appropriate method.
(e) Prepare a project plan. () Communicate with employees.
(g) Articulatethe objectives.

Codes :

(1) (9). (@), (c), (b), (d), (f) and (e)
(2) (9). (d), (&), (), (&), (c) and (b)
(3) (e), (9), (), (a), (d), (c) and (b)
(4) (d), (e), (), (9). (&), (c) and (b)
Paper-Ill 6 J-17-16
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10. T Hree & e T — | w5 g — 1| g e

= - | = - I
(a) WA Higed () o ST WX eI FeIoT Uishar
(b) WHA faast Aree (i) Terfq w R uiear & - s
() SReR At (i) Tfaetier SFaaTshaTeT ik
(d) Rt HieA (iv) TEET U favaraicss Hied § |
%
(a) (b) (©) (d)
@ 0 (i) (iv) (i)
2 (@) (i) (i) (iv)
) (i)  (iv) (i) (i)
4) () (i) (i) (i)
11. g — |t BT B G — || B AR o A1 G Y 3R TEl Fe H =9aT B |
T - | -0
() 3R () T FFA N *
(b) wwfed AT (i) WAFES T 1T, TSR HIS, At Frei e
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(d) b e (iv) W Teiied =i o fafgree e dioe
%
(a) (b) (©) (d)
1) (i) (i) (iv) (i)
2 0 (i) (iv) (i)
(3) (i) (i) (iv) (i)
4) (i) (iv) @ (i)
12. e § § HiF-91 HitedT Gaitds SUFer el 56 his ST 319 9ol i U fafere &7 7
T T AR & ?
(1) fear IR effom= (2) ubET
(3) THERTH (4) TEe

13. 1 Hodih AThAT % Tl hH T T Y

(a)
(b)
(©)
(d)
(e)
Q)
(9)
S
(1)
(2
)
(4)
J-17-16
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(@), (@), (), (b), (d), (B (e)
(9), (d), (e), (0, (@), () (b)
(e), (), (), (a), (d), (¥ (b)
(d), (), (), (9), (@), (X (b)
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14. Consider the following statements :

Statement — | :Grievance is like a ‘headache’ as it a symptom rather than a disease.

Statement-Il : The employee should be told of his line of appeal by
employer/management, if he does not gésfection from his immediate superior.

Statement — Ill : Grievance Redressal Mechanism does not believe in the concept —
“Justice delayed is justice denied” as it gives more weightage on proper settlement.

Codes :

(1) All the above statements are correct.

(2) Statements | and ll@rcorrect; Il is incorrect.

(3) Statements | and Il are correct; Il is incorrect.

(4) Statements Il and ldre correct; | is incorrect.

15. Assertion (A) : The domestic enquiry, as a part odaplinary action, is a quasi judicial

process where the onus of proving tharges lies withhe accuser.

Reasoning (R) :If the charges are not proved, then the employee is exonerated.

Codes :

(1) (A)is correct, but (R) is incorrect.

(2) (A)isincorrect, but (R) is correct.

(3) Both (A) and (R) are correct, but)(R not the right explanation of (A).

(4) Both (A) and (R) are correct, a(i) is the right explanation of (A).

16. Frequently, maximization of profits is regardesithe proper objectivad the firm, but it is
not as inclusive a goal as that of maximizing shareholder wealth because

(1) total profits are not as portant as earnings per share.

(2) earnings per share are momportant than total profits.

(3) maximization of earnings per sharenst a fully appropriate objective because it
does not specify the durati of expected returns.

(4) maximization of earnings per sharenst a fully appropriate objective because it
does not specify the timing of expected returns.

17. Match the items of List —with the items of List — II.

“ 4 List—1 List—1I
(@ IRR P, () Process of anagling potential fixed asset
j investment.
(b) NPV is equal to zero. (i) (Proportion of equity)x (cost of equity) +
' (Proportion of debtk (cost of debts).
(c) Cost oficapital (i) Project is acceptable.
(d) Capital budgeting (iv) NPV = Zero.

Codes :
(a) (b) (c) (d)
@ @ G () (i)
2 (v) @) (i) (i)
@) (v) (i) (i) (i)
(GO () @iy (i)  (iv)
Paper-Ill 8 J-17-16
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(4) I AN T E P | T
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(3) (A) 3R (R) 3HT W&l &, W (R), (A) Ff el =amen T&l § |

(4) (A) 3R (R) 3 T@l €, 3R (R), (A) il T&t AT |

16. H % QYO S2¥ ARIHAH T & SAISHATHIOT T AT ST €, T T8 IR bt Gurdt i
AR A & 32T ST GHE T ¢, Fh
(1) o1 o 3 TEcaor A&l & T Ui IR STHEH |
(2) o1 T % GehTeret Uid VA TS e Heequl § |
(3) i TR AHEHT 1 SATIHAHHIOT QUIEHTT e 3299 Tél 8, ik Tad Sl Widhet i

37afe S Ot FEl For ¢ |
(4) Ufq TR AT T STHAHHOT JUIETUT T I Tél &, Hieh aifod Aawet & T
1 Ol Fel For § |
17. gt — | 1 AT B G — || & Qe GAfed &
T - | =i — I
(d IRR () e omuiia fer uREufa fawr &
f fereeIooT St Ufshan
(b) NPVIEHRETE | (i) (R B 7o x el & o) + (et
. I THTET x e i AT
(©) isﬁa%qm (iii) RS e |
(d) TS ST T (iv) NPV=3=

(@) (b)y  (© (d)
@ iy @) (v) (i)
2 (v) (i) (i) (i
3 i) (i) (i) (i)
@ 0 (i) (i) (v)
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18. Which one is a false statement ?

(1) Pure risks are risks thatfer only the prospect of loss.

(2) Speculative risks are situations that dfierchance of a gain boight result in a loss.

(3) Liability risks are associated with produand not with service, or with employee
actions.

(4) Environmental risks include riskssasiated with polluting the environment.

19. Which one is a correct statement ?

(1) When the required rate of return is mtiven the stated coupon rate, the value of the
bond will be less than its face value.

(2) A bond is said to be selling at a premiwhen the required rate of return is less
than stated coupon rate.

(3) The value of the bond will equal to itscé value when the required rate of return
equals the stated coupon rate.

(4) If interest rates rise dbat the required rate of retuincreases, then the bond will
increase in value.

20. Which one of the following statements is not correct ?

(1) The return from holding a security isnglly the change in market price, plus any
cash payments received from the company, divided by the beginning price.

(2) A key factor in the valuation of any financial instrument is an implied positive
relationship between risk and expected return.

(3) The risk that cannot be avoided by dsication of the seaities one holds, is
called unavoidable risk.

(4) The slope of the security market lindstéhe degree to whicimvestors are not risk
averse.

21. Marketers should be aware of laws, govemnmagencies, and pressure groups that
influence or limit various organizations andlividuals in a given society. This is most
accurately described as which arfehe following environment ?

(1) Political (2) Legal-technological

(3) Cultural (4) Social

22. Which one of the following is a consemgoods market testing method in which
consumers who initially try the product at wost are reoffered it, or a competitors’
product at slightly reduced price ?

(1) Simulated Test Marketing (2) Controlled Test Marketing

(3) Test Markets (4) Sales-Wave Research

23.  Which of the following statements are correct ?

Statement-l : Customer Relationship Managemd@RM), describes the Company’s
optimization of the value of its customer base.

Statement-Il : Customer Value Management(CVMXiees on the analysis of individual
data on prospects and customers to lbgvenarketing strategs to acquire and
retain customers and drive customer behaviour.

Statement-Ill : CRM is the process of carefullpanaging detailed information about
individual customers and all customeotith points” to maximize loyalty.

Codes :

Q) tlandli (2) landll

(3) Handlll 4
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20. fr=fofEd & & i 91 FF T8 TG 8§ ?

(1) T vfagfa 1 glee = @ S ufawet W 8idr 8, 98 Fad ISR HAd B e e
FHUHT T T TFehs A o AT BT TR DHAd § 907 3 F e & |

(2) W%ﬂﬁﬁ%?aﬁq@-ﬁaﬁmﬁaﬁ@qaﬁraﬁﬁuﬁw%aﬁwwm ey
T HREH |

(3) Qaﬁmﬁﬁ%maﬁﬁwﬁﬂﬁaﬁ%ﬁ%ﬁaﬂm@maﬁf@nﬁquﬁﬁww
e ST ¢ |

(4) ?ﬂﬁﬁnﬁ%@wwﬁ%ﬁ%wmﬁw%aﬁwé%ﬁmﬁ%ﬁ

|

21, Tacharsti ot ST, THRI TGl 3T TAEH TR T ST BT alfeT S fohat erad JqumsT o
fafir= TmeAt iR =foral ot wvifed sTaar aREHd Xd § | 38 Haias 9ok 9 § = 5 9
I T FAIERT & &9 H S0 fehHaT ST § 2
(1) T 2) ffsietE
(3) wiEHd® (4) GRS

22. Tefafed o @ i Ot U STITI-a%] TSR R0 YSid ¢ ST Sarid 37 Suiersti i, i
TRY H g0 | ol SIS BT SUANT R €, ARl ST T: UTThET hi ST ¢ 3TaT Wiaeet
IS i TS T gl P T YR B ST & 2

(1) &7 Tetor fagus (2) Trafra wetor fagqum
(3) el A (4) Fouae
23. f=fafEa & @ 9 9 %29 T ¢ ?
e — | :%WWW@.W.@.)W%WW%WWWWHW
FATE |

FUA — || : TEH T VEET (AT, T T SR ST T T qAT ST TR B
TaTed & & o0 fouqure Yoritaat foeiad e &g SISt 3R el & TeY |
AT TSl & [TTATUT T F6T AT & |

FHUA — ||l ; Teh Tay Fag et i fiehad s 2q Wesh fonig o aR H forgd SRt 31X

Tt ek TRt g S WIEHHIgd e FeET S i U € |

C T
(1) 1= (2) 1SR
(3) nawin 4 1
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24. Consider the following statements relateed different stages of PLC and choose the
correct code :

(@) Introduction — A period of slow sales growth and low profit.
(b) Introduction — A period of slow sagrowth and noexistent profit.
(c) Growth — A period of rapid markedcceptance and Isstantial profit
improvement.
(d) Growth — A period of rapid market acceptance and slow profit
improvement.
(e) Decline — Sales show a dowana drift and profits stabilize. o
(H Decline — Sales show a daward drift and profits erode. y
Codes :
(1) (a), (c) and (f) (2)  (b), (c) and (f)
(3) (a), (d) and (f) (4) (b), (d) and (e)
25. Match the items of List — | with the itemof List — Il and selt the correct code.
List — | List — 11
(@ Couwons (i)  Using one brand to advertise a’nothenmrrpetlng brand.
(b) Tie-in Promotions (i) Offgrs to consg,mers of saving¥ the regular price of a
product.

(c) Cross Promotions  (iii) Certlflcate,s ehitiy the bearer to atated saving on the
purchase of apecific product.
(d) Price Packs (iv) Two or more or/companies team up on coupons,
refunds, and contestsito incregsdling power.
Codes :
(a) (b) (©) (d)
(1) (i) (iv) (i) (i)
(2) M (i) (v) (i)
(3) (i)  (iv) (i) (i)
4) (i) (i) (i) (iii)
26. Which of the following jobs/decisions ofgatuction/operations management are related to
short time horizon ?

(i)  Product design (i) Product variations

(i)  Productionschedulimy (iv) Design of jobs

(v)d Breakdowrmaintenance (vi) Available materials allocation and handling
Codes :

(1(; (1), (iii) and (iv) (2) (i), (i) and (iv)

(3) (i), (v) and (vi) (4) (i), (v) and (vi)

27. Match the items of List — | with the itentd List — Il regardng Operations Research
Models and their bases of Categorization imditate the code of their correct matching.

List — | List — I
(Type of Mode) (Basis of Catgorization)
(@) Analogue Model (i) Nature of environment
(b) Descrpt‘ive Model (i) Method ofgetting the solutio
(c) Deterministic Model (i) Structure
i(d) Simulation Model (iv) Utility

Codes:
() (b) (c) (d)
(Y ()) (i) (iii) (iv)
(2) (i) (iv) (i) (if)
(3) (i) (iv) (i) (iif)
4) () (i) (i) (if)
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24. TuaAd. & fafe=r =Rl & ey §, fFefaied e W faem w5 3R 98 B 1 =T o
(a) wR== — et fosht gfeg 3 % o Y ety
(b) WR== — it fosht gig TR TR-HIS[E @ &t 31aty
(c) dt& — i SR TP 3R o § g R i STarg
(d) g — T ISR Wi 3T @ 4 UR & ety
(e) frmE= —  foent ® i 8 o Mg TS € 3R o fer @d €
(f) frEe —  foshl & S B 1 T fewdl § S o HedT ¥ |
FT
(1) (a).(c) IR (f) (2 (b),(c) =R (f)
(3) (a).(d) R (f) (4) (b),(d) R (e)
25. G — | S T8 B Gl — || H HET b Qe G Y 3R T&l H T
mﬁ—l = - |l
(a) (i)  Topdlt TR-mfcreedf site <1 fereet e o, ol eh it <1 9T et |
(b) ZI'%%?W (i) et Seare o Frafe Joa o SUMISRIST i e 1 A HA |
(c) wmEwmeE (i) meaﬁaﬁawwaﬁwﬁﬁﬁgwwﬁww
TR S AT
(d) vreE t (iv) Wmﬁa Wﬁma}@aﬁmmmwﬁmmﬁ
feTeRY T, RO I STl o6 et et & |
%
a (b) (€) (d)
g @ @ W g
(3) (i) (iv) (i) (i)
4) (iv) (i) (i) (ii)
26. SR/ JEYA 1 fEfatad § 9 S | S/ steumaty fafas @ gefad € 2
(i) g fesire (i) 3R T
(i)  3cuTEA TS (iv) = festrea
(v) I qEEoT (Vi) SUCTSY T 3T 3T Tt
BT
1) (@), (i) R (iv) 2 (), (i) 3R (iv)
(3)  (iii), (v) 3 (vi) (4) (i), (v) &R (vi)
27. ToRaTcHeh STEYM HigeT 3R 3% SUIHIvl o STMERT & T | gal — | &1 7&1 & g — |l &
ﬂﬁ%wgﬁﬁﬁaﬁaﬁ?ﬁaﬁgﬁmwﬁﬁﬁw
e =it - I
(mga ;ﬁm?) (Qﬂﬁmaﬁramrr()
(@) Tqoawy Hiset (i) aTATERoT S UHid
(b) SUTTCHER Hige (i) T T A I TFIa
(c) cHeh Higel (iii) ST
\(d)  erET HES (iv) ST
@ ® © (@
(1) () (i) @iy (iv)
2w opon o
54; év) (i) (ii) (i)
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28. Which one of the following criteria is nased for decision-making under uncertainty ?
(1) Maximin (2) Maximax
(3) Minimax (4) Minimize expected loss

29. Which one of the following issed to know the average queue length when the arrival rate
and service rate are demotedlbgndu respectively ?

A %
@ n—A @) TR(TEY)
1 A
3) =Y (4) "

30. X and R-charts are for which of the following ?

(1) Charts for variables (2) Charts for number of defects
(3) Charts for attributes (4) None of the above
31. Maitch the items of List — | with the itenaf List — Il regardng sampling theory and
indicate the code of their correct matching.
List — 1| o o List—1I
() Law of Statistical Regulay (afj' Non-samplingerrors
(i) Law of Inertia of LargeNumbers /(b) Samplintechnique
(i) Quota sampling / (c) Theetical basis of sampling
(iv) Response errors § 4
(v) Non-response errors Y 4
Codes :
(@) (b) ()
(1) (), (i) (iiiy (iv), (v)
(2)  (iv), (v) (i), (i) (iii)
(3)  (iv), (v) (i) (i), (i)
4) (i) (iv), (v) (i), (ii)

32. Statement — | :Exponential probability distribution has the mea& and variance ilg
Statement — Il : The mean, median and mode do cancide in the normal distribution.
Statement — Ill : The binomial distributioms symmetrical for any Vae of p (probability

of success).
Codes :
(1) All the three statements are true.
(2) All the three statements are false.
(3) Statement — | is true while Statements — Il & Il are false.
(4) Statement — Il is true while Statements | & Il are false.

33. Which one of the following statements is correct ?

(1) When both the variables X and Y are nueed on an interval or ratio scale, Karl
Pearson’s coefficient of cotegion is most appropriate.

(@

(2) The probable error of efficient of correlation iT';.

(3) If the sign of two regression coefficients (Y on X) and (X on Y) is negative, the sign
of correlation coefficient is positive.

(4) If one of the regression coefficients greater than one, the other regression
coefficient must also be greater than one.
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28. AHYEadr % 3idwd Hoig oF &g FHefafad § ¥ f6g gmss & W @t fhar S € 2
(1) =frEs (2) R
(3) it (4) ST B i <A S

29. 3iHd Ul T SR & HEteiad B 9 foRaee TanT fer ST € S 9 ¥ SR Wall 3 Hh
AT A S P T ST fopa <1 2

A 22
Y @
1 A
©® 4) 7
30. X X R-=E =1 # fopeyeps ford &t € 2
(1) =R & fow = (2) i i e g
(3) foemerent & fod = (4) STIF | B TR

31. wiqeas fagrd & 9’ & gar — | 1 A7 T ol Gl — || Sl 687 & Qi GRfed Y 3R 376 e &
el < T 9
| — | At |

() it Fafa ® fEw (a) e g
(i) W& Stear Fam (b) i J
(i) =reT Uiq=E (c) e I Hegiidenh ML’
(iv) ke sget /
(v) TR-erfRam 9o -t
@“d‘ :

(@) (b) (0
(1) (), (i) (i) (iv), (v)
R R U (1
§43 Em?’ (v}, (v) 82 &3

. . 1 1
32. wuT-| :Wﬂﬁﬁ%aﬁq@maﬁaﬂmzaaﬁ?w:—z% |

1)
HUA — || ; AT, RS 3R TgeIsh AH 52 H GHE el 8 € |
FUA — || ; 5SS p (Tl Sl TRIT) & [hdl Joof o foTd GamEd &ar € |

B
(1) ot A o W E

(2) | T A T € ‘

(3) FuT — | W & eIk U — || 3R || T § |
(4) F=F — Il TEt & STafh 2 | 3R || T § |

33. Tywfefiad § | % 41 % @ & 2

(1) S& X 3RY ITHE o TH ST a1 ST TAH I A ST &, df et [UaRaT T gede
T 10T Fad 3ted € |

(2) TEHSY & T[T T TEATI ﬁﬁ%% |

(3) @t & wHIEEw i (Y on X) 3 (X on Y) % e TehRienss €, af Feday & oTieh i
feeT TR B & |
(4) IS TEIEFOT 0T U AT BT &, AN SO FHIHFUT N | TF § SH B |
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34. When a researcher wants to test whethergamples can be regarded as drawn from the
normal populations having same variarme using variance ratio, which one of the
following tests of hypothesis is appropriate ?

(1) Z-test (2) t-test

(3) Chi-squargest (4) F-test

35. Which one of the following matrix graphiba portrays differenceamong divisions in
terms of relative market share g and industry growth rate ?

(1) SPACE Matrix (2) BCG Matrix

(3) SWOT Matrix (4) IE Matrix

36. Consider the following statements :

(@) The stage of industry’s developmethte(cycle) cannot inflence the nature of
competitive rivalry.

(b) As the industry starts to mature imns of life cycle, rulesre rejected, consumer
expectations about quality and performarare blurred andhdustry standards are
put for modification.

(c) A major feature of maturing industsies the tendency for competition based on
product pricing becoming similar.

(d) Indeclining industries, only the mafticient firms can earn reasonable profits.

In the light of Industry Lfie Cycle, which of the above statements are true ?

Codes :

(1) Only (c) and (d) (2) Only (a), (c) and (d)

(3) Only (b) and (c) (4) Only (b), (c) and (d)

37. According to Michael Porter's Generic degies, the three diffené basis of gaining
competitive advantage by an organization are which of the following ?

(1) Integration, diversification and acquisitions.

(2) Growing, building and sustaining.

(3) Cost leadership, differentiation and focus.

(4) Positioning, capturing and changing.

38. Match the items given in Listhwith the items of List — II.

List=1I List — Il
(@) Objectives () Reveal priorities
(b) Strategies (i) Retreats
(c) Policie (iif) Potential actions
(d) Periodical conduct of strategic{iv) Mainly address repetitive/recurring situations
manage&ent meeting
Codes :
(a) (b) (©) (d)

1 0 (i) (v) (i)

(2) (i) (i) (i) (iv)

3) (v) (i) (i) (i)

4) (i) (iv) (i) (iii)

39. The forum which reviews the trade policiesaifWTO member countries is which one of
the following ?

(1) DSB (2) TPRB

(3) TRIPS (4) Generd&ouncil
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34.

35.

36.

37.

38.

39.

& IE TIEehdl TEROT AT S JAN A §U I SI1d HaAT d8al § b o1 &1 Wiqag1 i qH
TEROT AT W ST 9 foran man €, of Fefefad o 9 S 9t WeheaT Sitd gt g ?
(1) z=m= (2) ti=

(3) TR i (4) F-ita

=7 8 9 @9 9 Afcr % & w9 § Arferes 9 fefd iR S e 3T % st | foue &
3T ol Il & 2

(1) SPACEdfcsa (2) BCGHic
(3) SWOTATz (4) |E ffem
FEAteiEd oA 9T o= Y

(@) ST I forebr 7o (ITEE ATEfehet) TqaiTi Tod i Wehfd st Wfiferd =Tét e Fehell |

(b) S-S TN ALE AEfhel & AR QAT il AT &, Faw o Seger g9 e €,
TOTeRAT ST e 3 Tafer H IqHierTT i SIS 3OS &1 ST & 2 e o A § gar
fopan ST 1

(c) U uRushen (fospla) e ot @ fagidr gt & foF So8 Scs it S fuior # e
R H YR T AT 6l Vg et & |

(d) TTHEE TR H et 8T FH &l St o 31T e G & |

SEIT & W WTEfehet & T3 § SIS H § HiF F HoF T & ?

FE !
(1) e (c) 3R (d) (2) %5 (a), ()3 (d)
(3) e (b) 3R (c) (4) e (b), (c) 3R (d)

HIEHA TIeX o SR TS o IR Teh e FRT Hfeaeicqes o e A & o o=
AN BT A E ?

(1) e, fafaeieor 3R sifmeor

(2) Toohfad T, FET ST 3R HrEd @

(3) T e, fawidieoT 3wk

(4) AT, TehgAT SR URATdd ST

el — | o T_1 R g — || % e gaferd &Y

=t — | =t — I
(@) ST, () afEar = e |
(b) Fefa (i) TR FarTe |
() @ 4 (i) T e
(d) omafas vEET ek (iv) FRg/etad fefaar o g ' 9 g
FATE |
FHE !
A I
amowonw
€4; (i) (iv) (i) ((Iil)
forva =R AeT % Tl TSI <9 I AR AT bl GHIRT A 9Tt BIRA 47 Fad © 2
(1) DSB (2) TPRB
(3) TRIPS (4) |ERE IRUE
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40. A working group set up by Reserve Bankloflia on “Flow of Credit of SSI Sector”
submitted its report in May 2004. One of the major recommendation was that the
definition of the small and medium entega$ sector be basexh its turnover. The

working group was headed by
(1) Shri Abid Hussain (2) Shri P.R. Nayak
(3) Shri S.L. Kapur (4) Dr. A.S. Ganguli

41. Assertion (A) : Small-scale and Cottage industriese a more equitable distribution of

the national income.

Reasoning (R) : The ownership of Small-Scale Irstes is morewidespread than
ownership of large-saalindustries and they posseslarger employment potential.

Codes :

(1) (A)is correct, but (R) is incorrect.

(2) (A)isincorrect, but (R) is correct.

(3) Both (A) and (R) are correct, but)(R not the right explanation of (A).
(4) Both (A) and (R) are correct, a(fd) is the right explanation of (A).

42. Match the items of List +with those of List — II.

List—1I f.f List —II
(Projects) / (Classification)
(@) Magnitude Oriented () Classifyprojects on the basis of capital
intensive aﬁd/gr lab@untensive projects.
(b) Non-quantifiable (i) ClassifyrojeCts on the basis of availability

of demand for_geods and services, raw

% , materials, skills and/or other inputs.

(c) Causation Oriented L-(iiT) Level ahvestment is generally used as a

1

4 deciding criteria for mject classification.

(d) Factor Intensity Orienteéd  (iv) Projects with social endowments like health,

education, social welfare etc.
Codes :
@ O  © @
DTN () N () B (1) M ()
2 @)y (i) (v) (i)
) (v) () (i) (i)
4) (i) (iv) (i) (i)
43. Consider the following statements :
Statement | : An Intrapreneur is not senisi¢ to corporate hierarchy.

Statement Il : Risk and return trade-off is the madasis for entrepresurial behaviour.

Statement Il : Entrepreneurs seek autonomy and freedom in their decision-making
process.

Statement IV : Intrapreneurs are expected to sedlithdeas to their ow organizations at
first.

Codes :

(1) Only Statement | is true, others are false.
(2) Only Statement | is false, others are true.
(3) Statements | and IV are triugtatements Il and Il are false.
(4) Statements Il and Il are truBtatements | and IV are false.

Paper-Ill 18

J-17-16

www.examrace.com



40. R Ree 5% R “Tedl 7 shiee 31 TH.UE.31E. A" W Tied SR T98 7 7 2004 H
3T ROie TR Wt ot | U Y FAwIeT e off o oty SR Weiel el St Ut SHenl et
forshl ox ST g SfeT | 3T HREIHRT THE H Agcd [hhh §RT fohaT T o ?

(1) o s ga= (2) st UI.R. T
(3) it THUA. IR (4) < Tug. et

41, fiemee (A) : o 3R FER SN TLHE ST Sl SR e =AFGTa faeor girved sd € |
b (R) : o ST o1 e Ig SENT o Tt st 37er 31 forge giar & i 370 AR
! 21T TRITEAT Bl & |
T4
(1) (A) W&, AT (R) T € |
(2) (A T €, AT (R)Hel e |
(3) (A) 3R (R) 31 Tl €, At (R), (A) t Hel =T el ¢ |
(4) (A) 3R (R) SHI T € 31T (R), (A) F W&l A=A T |

42. T — | H&T 6 g — || F T gaferd
Tt - | J w=R -
(et .- )
(a) uREMI=gE! () IS U 3R S qe TR URAISATSTT T SThoT
(b) IRURTOTHAE (i) TSN, ST, FHedl Wiol, HIVCYIT I SSHT HBI TAT B

IUCTRIT % STER IT TRESISA el aTiiepor

() wrememE (i) PR % B SRR W aREeEe & ae @
e P 0 % fore e AT % |

(d) wREHAERGE  (iv) ;ﬂpﬁwaﬁm SO ey, fen, gmie wedr afd

%
(a) (b) (c) (d)
@ @ (i) (i) (iv)
2 ) (i)  (v) (i)
Q) (v) (i) (i) (i)
(4) (i)  (v) (i) (i)
43. TEfREd FEA W gaR i
FHUA | TH 33T T IR % Ui FogAsiier e g ¢ |
FHUA || ; SHfEm 3 wfawel SR SeHEhal R 1 T SMER &1 € |
FHoA || ST ST T Ufshan | T SR WA 9ed ¢ |
FHUA |V ;T SAHA & ST A ST € fof o g 0 =R 3o Wires & a9 |
FE
(1) ocT o 1 Tl &, 3T ToAd € |
(2) et e | oI €, T R E |
(3) FF | AR IV T, Fu Il 3R | 7o € |
(4) FF Il AR W E, FA | RNV TATE |
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44. Match the items of List — | with List — Wvith regard to model®f Corporate Social
Responsibility.
List—1 List—1I
(Proponent) (Emphasisand Models)
(@) Mahatma Gandhi () Voluntary commitment by companies to
public welfare. (Ethical Model)
(b) Jawaharlal Nehru (i) Stateownership and legal requirements
determine corporate ngsnsibilities. (Statist
Model) i
(c) Milton Friedmen (i) Corpora& responsibilities limited private 4
owners. (Liberal Model) {
(d) Edward Freeman (iv) Compas respond to the needs of
stakeholders. (Stakeholder Model)
Codes :
(a) (b) (©) (d)
1) iy (i) (iv) (i)
() () (i) (i) (iv)
3) (iv) (i) (i) (i)
@ @ @iy @ (v)

45. Which among the following are Kohlberg's¢le basic levels dadthical principles ?

(a) Social Responsibility (b) Moral Development

(c) Organisationdtthics (d) Organisational Formal Structure
(e) Moral Values ( Work ethos

Codes :

(1) (@), 0) &(c) (2) (d), (e) &()

3) (b), (d) &) 4) (@), (c)&(e)

46. Assertion (A) : In a widely reportednstance in Wipro Tdwmologies, a very senior
executive who had put in long years of segvin the company and had contributed
significantly to its growth had to be dismissed because he claimed in his travel
expenses more than his dues.

Reasoning (R) :Most companies in advanced couagriand some even in developing
countries have developed their own codéd conduct which provide some ethical
standards for their employees.

Codes :

(1) (A)is correct, but (R) is incorrect.

(2) Both (A) & (R) are correct and Jis the right ex@nation of (A).

(3) Both (A) & (R) are correct, but (R not the right gplanation of (A).

(4) Both (A) and (R) are incorrect.

47. As per Indian Companies Act, 2013, a qualifladian Company is required to contribute
at least 2% of its net avemagrofit towards Corporate SociBesponsibility. In which of
the following situations the companyrisquired to follow the provisions ?

(1) Company’s net worth 100 crore or more.
(2) Company’s net worth 8500 crore or more.
(3) Company’s net worth &1,000 crore or more.
(4) Company’s net worth &2,000 crore or more.

Paper-Iii 20 J-17-16

www.examrace.com



A4, T AT ST & Hiee % G99 § gt — | 3t A7 T o1 Gl — || 3 a1y Gaferd o

i - | i - |l
(wfeTuTeeh) (@ AR i)
(a) T E () U R AT § Wiregs gorasdl (Fidues Jed)

(b) SR FEE (i) T WiHE R P OIS FHd ST i
e et & | (Rfew dtee)

(c) T weessd (i) FrThe StRaTa st w@fHar ae i & | (S8R Aise)

(d) U=aE WA (iv) ToTeTRET i STETIHATST % TR Ul i Wraishar (@oTemT

) s .

T

@ (O © @
@ i) @ ™ 0
@ @ G O v
@ ™ O @ i
@ O ) i) ()
A5, FT 35 A T 3 A T T e 6w e

(@) TSR STREIEE (b) T fompra

(c) HeATCH HAfereRar (d) T S e
(e) s weat (f) & AEER

@':

(1) (a),(b) 3R (c) 2)  (d), (e}R (f)

(3)  (b),(d) 3 (f) @) (a), (c)3R (e)

46. fueerd (A) : foult eFGASIST bl T =T o fava-TR W YR fohar man 5oy ush U oy
RS HHART ! @R fehar T 578 ot | YOIt el Fard UST i SR 39 o |
3TOT TEeaqUT TS 5T | STeht STl b T8 SRV T foh S 310+ Sl § SART
TET 3O AT A & ST AT |

HROT (R) : forspiad 391 ot SRR FHufa 31T forhrasiier 9 @t off & Huf=ar 3 310t =R
Hfear 1 T fehar & ST S FHERET i $8 AfawReE qHE T Har ¢ |
&

(1) (A) &l g A (R) Tora € |

(2) (A) 3R (R)TMT Wl € 3R (R), (A) i T = ¢ |

(3) (A) 3R (R) I Tt &€ W (R), (A) Ff el =amen &l & |

(4) (A) 3T (R)3HI Tora € |

A7. YRAE HUAT AuFHEY, 2013 % SFTER U TTH F AT URAE SO & o0 T8 St € 6 98
T FaeT Sfaa oY B S d B 2% HiHd arir STReE % Ui @9 ®Y | FEaiad §
¥ fore ferfa | ot & foTt g WTae=i sl AT STt gielm & 2
(1) <& o ot Haer Gura T 100FRIg 7aT 3 374w &l |
(2) S/ HH B Haet Gutd T 500 3T 3 fUh & |
(3) STa Ut Bt et Futa T 1,00090g 37eT SHY T4k &l |
(4) <& HUAr Ht Haer Gura 32,0009 37aT 39S 4w &l |
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48.

Statement | : Employee orientatiorprovides new employeewith basic background
information they need to perm their jobs satisfactorily.

Statement Il : Orientation is actually part of ¢ghemployer’'s new employee socialization

process.
Codes :
(1) Statement | is correct. (2) Statement Il is correct.
(3) Both Statements are correct. (4) Both Statements are incorrect.
49. When an employee is transferred to anottmemtry and is assignedsalary based on the
base salary for that position in the counitrigere he will work, the employer has used a
salary plan.
(1) host based (2) home based
(3) transfer (4) cost-diving
50. Select the correct sequence of steps Wb in the development of an induction
programme.
(a) Identifytheaudience.
(b) Define the new employee notification process.
(c) SeeKeedback.
(d) Identifythe objectivesof the induction programme.
(e) Design the induction programme content and mode of delivery.
Codes :
(1) (b), (d).(a), (e) and (c) (2) (&), (b), (d), (e) and (c)
(3) (e), (a), (b), (d) and (c) 4) (&), (b), (c), (d) and (e)
51. Assertion (A) : Every company should have agyance redressal mechanism.
Reasoning (R) :Grievance is a feeling that sholdd expressed mandatorily, arising out
of anything connected to company that esgpk thinks is inequitable or unfair.
Codes :
(1) (A) and (R) both are correct and) (R the right explanation of (A).
(2) (A) and (R) both are correct, but (R)not the right explanation of (A).
(3) (A)is correct and (R) is incorrect.
(4) (A)isincorrect and (R) is correct.
52. Assertion (A) : Integrative Bargaining is@pe of win-loose strategy.
Reasoning (R) :In integrative bargainingaroductivity aspects are considered in mutual-
problem solving to increase gains.
Codes :
(1) (A)is correct, but (R) is incorrect.
(2) (A)isincorrect, but (R) is correct.
(3) (A)is correct and (R) isght explanation of (A).
(4) (A)is correct, but (R) is nabhe right explanation of (A).
Paper-Ili 22 J-17-16

www.examrace.com



48. ®HUA | : FHHAN FHe AT FHANET h 9@1&[ {;LTHI YR T & STt 3¢ 10T
T FATSSTeh & & o s Wﬁ?ﬁ

HUA || ; 3THe ad: (e St 7T HHAR TSR UishaT 1 90T &l € |

C T
(1) TaEwTITEe | (2) TAEFAI T |
(3) T FUT WEIE | (4) T FHUF T T |

49. 19 fohdl HHARI I TEY S T SIHART [6aT ST & df 39 ST A {321 STt & 98 39 Ug % fog
STt a1 T BT % JoT da ) SR &I & | 399 e = fHe=fefad § @ @i 91 adqq =
1 TG foRa & 2

(1) onfags smemia (2) & e
(3) TR (4) it taE =1
50. foHl 3T FEHH & O T 291 STH ot el % Tel h9 1 999 L |
(@) st = TeaE
(b) T FHHERT STRIET UiHAT I AR AT
(c) hissh TN

(d) 3TTHA HEHY % ST i TedH

(€) ST HIFsHY i faugaw] 3 feciiakt s aRiet AT |

HT
(1) (b), (d).(a), (e} (c) (2) (@), (b), (d), (¥R (c)
(3) (&), (@), (b), (¥ (c) 4) (@) (b), (c), (G¥R (e)

51. AW (A) : TF FHT & IR Teh e (HamRor & g1 =1fey |
& (R) : Torbea, U 9o & 59 1ard ®9 ¥ 1iiees fhar ST et ST e | Heifd
foredt <isT =B &1 Tebelt €, T HHORT ST=maEiTd A e THerd € |
e T
(1) (A) 3R (R)3HT @&t € 3R (R), (A) 3 T& ARATE |
(2) (A) 3R (R) S Tel € At (R), (A)  Hel = el ¢ |
(3) (A) W& 3R (R)Toid ¢ |
(4) (Ao € 3R (R) TRl & |

52. AMWHYUA (A) : THHCHICTS TS SId-2R SFeda-T H U TR ¢ |
% (R) : GHGCHICHS GHEIAl § o i 9@ o [T STIE THET o GHTY o [T Scargehdl
el W foraR far ST E
E
(1) (A) W&, AT (R) T € |
(2) (A) oI &, A (R) W& E |
(3) (A)TE & 3 (R), (A) F T AT |
(4) (A)TE & A (R), (A) T AR TR € |
J-17-16 23 Paper-Ill

www.examrace.com



53. Maitch the List — | with List — Il relatig to approaches to Industrial Relations.

List —1 List—1I
(a) Systems approach (i) Peaceful co-existence of capital and labour.
(b) V.V. Giri approach (i) Developed by John. T. Dunlop.
(c) Gandhian approach (i) PeEnce to voluntary arbitration.

(d) Socio-ethical approach (ivAssuming moral responsibility of
understanding each other.
Codes :
(a) (b) (©) (d)
(€ I () B () (i) (iv)
(2) (i) (i) (iv) (i)
@) 0 @iy  (v) (i)
4 (v) (i) (i) (i)

54. Consider the following statements :
Statement | : Union grievance procedures can differ from firm to firm.
Statement Il : Peaceful picketing during a &te of workers is lawful.

Statement Il : The National Labour Relations BoardL(RB) is an agency created by the
Wagner Act to investigate about thenmmum wages in all business units.

Codes :

(1) Only statements | and Il are correct.
(2) Only statement | is correct.

(3) Only statement Il is correct.

(4) Only statement Ill is correct.

55. Assertion (A) : General business conditionan greatly modify # number and type of
middlemen available.

Reasoning (R) :Technological advances have maaignificant effect on increase in
online purchase and vending machines.

Codes :

(1) (A)isincorrect and (R) is correct.

(2) (A) and (R) both are incorrect.

(3) (A) and (R) both are correct and) (R the right explanation of (A).

(4) (A) and (R) both are correct, but (R)not the right explanation of (A).

56. Which of the following describe the four s#tvariables determing buyer behaviour as
per Howard Sheth Theory ?

(1) Physical input variable, externalrigble, exogenous vatble, output variable.

(2) Personality attitudes, perception ohsumer, learning variable of consumer, brand
variable.

(3) Social input variable, purchasing attital behaviour, selection behaviour, Brand
effect variable.

(4) Stimulus input variable, internal befaur of buyer, exogenous variables, response
output variables.
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53.

4.

55.

56.

SNTR Faei & geehivl o Fae | et — | &l gt — || & 91 gaferd & |
e — | = — I

(a) =TaET SUTH () USSR %/ 1 SNiqgo Festiae

(b) . Rt summ (i) S 2t e Ie gRT faehtad

(c) TIiEest 3UNTH (iii) s TR St a3

(d) arSTR-Afdear ST (iv) U SER I THET T A TR o T

%< ;

(=N

(@) (b) (©) (d)
@ @ @0 ()
2 @y @ vy 0
C/0 i) (v) (i)
@ vy O ) ()

ffeiad el W foar it

HU | © gFae T ufshan a7 ®H § ST6TT-3TeTT & Wbl & |

FHUA || : FHAREAT % (HE TSt & IR TAAYOT &RAT (3R FAT & |

FUF Il ;. TF H9 G99y are (NLRB) avFR aAfufem & 3faria givd we ool & i @
A TR § FAdH TG & aR § S A § |

%< .

(1) FaAFA | AR TEIE | (2) I FUT | T E |

(3) FHaA B I TEE | @) A EEI T

AfirpeE (A) ;| I TS IR g St s T 3T YR H HIE &5 9
TR Y T ¢ |

aF (R) : VERTHE ST 7 SR TE R AT qM- & WA & g I HIE TTE STell
T

E T2

(1) (AT € 3T (R) W& € |

(2) (A) 3R (R) I Tod € |

(3) (A) 3R (R) 3 Wel € 3R (R), (A) &l T& A=A E |
(4) (A) ¥R (R) A &t € T (R), (A)  Fel = el € |

frfefad ® & F a1 gare 92 fEid & AR, hal & FaeR &l Uk FHaret @)1 % =GR
Tryee 1 foera e & 2

(1) e 3T =R, 91 =, afesid =), M =)

(2) wAfRIce ST, ST Sy, ST T ST =R, ;e T

(3) WIS AT =R, i ATHGAIHE HTRR, T FARR, TS THE =

(4) TEUF T =R, el T STARE TR, Sestia =R, SFHAT ST TR
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57. Which of the following is the consumé&ehaviour model which conceives the person
(consumer) as a system with outp{iiehaviour) in response to inputs ?
(1) The Thorndike’s Theory
(2) The Engel Kollet Blackwell Theory
(3) Buying Theory by Drucker
(4) Comprehensive Theory of consumer behaviour
58. The Facebook, popularly used for online nedirkg, was founded in which year and by
whom ?
(1) 2004, Peter Corbett (2) 2005, Peter Corbett
(3) 2004, Mark Zuckerberg (4) 2005, Mark Zuckerberg
59. Which of the following is a form of online wa of mouth that encourages consumers to
pass along company developed products anvices or any other information online ?
(1) Viral Marketing (2) Microsites
(3) Interstitials (4) Contextuplacements
60. Consider the following statements relating to online marketing :
Statement | : Online communities and forums come in only one shape and size.
Statement Il : In paid search, marketers bid in@tinuous auction osearch terms that
serve as a proxy for the consumeateduct or consumption interest.
Statement Il : Marketers must recognize that only some consumers want to engage with
some brands.
Codes :
(1) Only statements | and Il are correct.
(2) Only statements Il and Ill are correct.
(3) Only statements | and Il are correct.
(4) All the statements are correct.
61. Which one of the following is infored workplace, sometimes garage, where
intrapreneurial teams wotk develop new products ?
(1) Garage teams (2) Venture teams
(3) Skunk works (4) Communities of practice
62. Match the items of List —with the items of List — II.
fist — " | List — Il
(@) A maderate approach tdgi) Continually recurring short-term liabilities.
currentiasset financing.
(b) Short-term-credit. (i) Someermanent current assets and even
fﬁ ' some fixed assets, are financed with short-
, term debt.
(c) Accrued liabilities. (i) Involvesmatching the maturities of assets
. ' and liabilities.
(d) Aggresbive approach tdiv) Any liability originally scheduled for
\ current assets financing. payment within one year.
Codes :
(a) (b) (c) (d)
1 Gv) () (i) (i)
(2) (i) (v) (i) (ii)
3) () (i) (i) (iv)
@ @ @iy @) (v)
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57. Frefafad § @ SiF 91 S0 FoeR Hied & S S % UTR H SAfed (STHeT) i i
(STFEIY) % T Teh TOTTeA! Hel € 2

(1) & aiFeER =R’ (2) 5 URTeT Bieie shaet SR
(3) TH F T fagi (4) SO SRR HT AIE (g
58. WS, ST TS W & [oTT AT &, i T foha o § fehech 5T b T2 off 2
(1) 20041 Hiec (2) 2005,HieX Hiee
(3) 2004 HT SpRarT (4) 2005,HTe SR

59. ffcfad § & i A1 3iFeie HifEsh ST 1 Uk €9 & S ST Bl BT FRT Scanga
SR 3R YA o 3TET i 37T STHHRT STHeTET U i o [T Wedied il & 2
(1) ST |l (2) wEFEREE
(3) TR (4) FRRIIA THHIZH
60. TS HRIcT o HeY H ffaiad Feai W foar &
HUT | ;3T FGHST 3R ERA fq U SHR-IHR & 8 & |
FUF | U TF b, fquuEedl 99 Ty W TAd ATH § aiet S € S SR S S
3T ST SATTE(E BT Il I T H g el € |
FHUA |l ; foqUFEdTsT it SMEvas €9 § Tg HHAT AT fF F STHIHRT F3 el ot awqy &t

TRIAT T ¢ |
%
(1) fak ]3Il e | (2) TaFw Il R TIE |
(3) fad e | i Il W& & | (4) T FE T |
61. fAfcifad & F T A1 SHITEIRe HEw, F-F RS & STl Sid: Sa 3 U Saag fasiaa
T B B HA & ?
(1) TRty (2) sEAIm
(3) wFH TR (4) FHEHS M Uiy
62. el — | Sl T&T B et — || o T GATAT P
e -1 | = - |l
(@) =] o famaimer & wfd (i) 9 YRIEdE STeshiersd gt
TTETROT FOrT
(b) FeuhIicTsh | (i) T T =T oNfheat ud e fHivea sniear &
?qﬁm ferTaiooT areushiicTs 0T & T STe & |
(c) ST el (i) el SR J@ATSH ® URUFEArST wH SRER
I & |
(d) =1 onfid fomaioor & wfa (iv) 1€ ot 3 59 o U A & 3 fga
ST ST ST ST &t |
BT !

@ b ©
@ vy @ (i) ()
2 (i vy () (i)
@ )y @ @) (v)
@ o Gy ) v
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63. Debt management ratios do not include
(1) Times-interest-earned ratio (2) EBITDA coverage ratio
(3) Debt ratio (4) Price/Cash flow ratio

64. The current market price of a company’s shaked8 and the expectaetividend per share
next year i 4.50. If the dividends are expectedgimw at a constant rate of 8%, the
share holder’s requiraate of return is

(1) 8.88% (2) 13%

(3) 5% 4) 4.5%

65. A project costX 3,000 now is expected to genteraear-end cash inflows & 500,

¥ 1,000 1,000 an& 1,100 in years first through fourhe discounting factor for these 4

years at project’s opportunitgost of 10% is 0.91, 0.83,7 and 0.68 respectively. The

Net present Value of project is.

(1) +% 310 (2) X310

3) -¥217 (4) + 600

66. Which one is false statement ?

(1) Net operating working capital is the difference between the current assets necessary
to operate the business and those culliebilities on which no interest is charged
(generally accounts payable and accruals).

(2) Operating assets are current assetd fixed assets nexsary to operate the
business.

(3) Economic value added is the differefmdween after-tax operating profit and the
total cost of capital, includinthe cost of equity capital.

(4) Economic value added does not differ from accounting profit.

67. Which statement is false ?

(1) Capital Asset pricing Model (CAPM$ based on the proposition that any stock’s
required rate of return is equal the riskdrrate of return plus a risk premium that
reflects only the risk renmaing after dversification.

(2) The relevant riskiness of an individsbck is its contribution to the riskiness of a
well-diversified portfolio.

(3) A stock’s relevant risk igreater than its stand-alone risk.

(4) Different stocks will affect the portio differently, so different securities have
different degrees of relevant risk.

68. From the following particularsietermine funds from operations :
(4

Salaries & Wages expenses 7,000

Profit on sale jof land 25,000

Loss on sale of building 13,000

Net loss as per P & L alc. 3,200

Depreciation on machinery 16,000

Amartization of goodwill 8,000

Stationery expenses 5,000

(1) 77,200 (2) 8,800

(3) 3,200 (4) 25,000
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63.

64.

65.

66.

67.

68.

0T Yeie STATT § S YNt el g € ?
(1) 3T =TT AT 3T (2) IS TR S
(3) RO I (4) YI/AHRE TR U

T FHIAT & IR N T TSR G T 90 & 3R 376l a9 Ufd 9= ST omier ¥ 4.50¢ |
ITE AR T 8% Ht (¥ad 3T § g ot ST ¢ af IIHURSD i UAHeT hl T 3T F-T
gt ?

(1) 8.88% (2) 13%

(3) 5% (4) 4.5%

T IR SR aaqa™ @md € 3,000% 9 U 99 9 91 961 o Ui a9 o 3 o SHAS:
% 500,% 1,000,3 1,00037% ¥ 1,100 THT Ve Gt e ot TG & | 37 9 a6t & fog
T R TNESHT I 10% i G g a9 0.91, 0.83, 0.754X 0.68 & | URESHr &l

farer I gog ar g ?

(1) +%310 2) =310

) -%217 (4) 4% 600

frforfad & | S o1 Fo e € 2

(1) o Taer SEeie O a9 S T6H % ol Sevgs T SR 3T Al
gamaﬁﬁqwaﬁ%mwﬁﬁqﬁ%(wmﬁ?qréaﬁ@aﬁ aﬁ?%ﬁ?%) % o9 BT S

|
(2) utan 3 tnc'; Sl € AR R Tfeadl eramd 1 9o o fort e € |
(3) BT qwld utan TN 3T ST ol ol oI e FSTas qoaT Ot bt

Q’1|‘|<‘I ‘tﬁ' e , ol <H'<'I'{

(4) fer T S g malwﬁlﬂwﬁ B |

freferfaa & @ 9 o1 %2 T € 2

(1) IS aREat Joa-faRer Aied (HTWUR,) 39 TR0 T SR Bi & foh fREt o Wik
H SEYIH UfqheT T ARGH o Ufawhel X 3R St e it fafaieor & geam
I T SREH T i Uidrared T €, % J1T % S el ¢ |

(2) ToaT fafere i St SifEadT fFdr Grataeisd Tehiicrr $i SiiaHd § 39 IEH ¢ |

(3) Tl wish W Tatud SifEH 3H% ‘Te 3T SiiaH ¥ ST erdr ¢ |

(4) Tal=T Wi TRt i fafT= TR ¥ Tifad e, STaud fafa= afaygfaai & o 3Ter-
37T feuht 1 el Sifem giar € |

frtafiad foeroT 4, v & FkEt fFuia =

y .
CRES aﬁws@m[ﬁ 7,000

o =t foshl & @y 25,000

T i fosht W et 13,000

P & L a/c® AR faet e 3,200

TR weieh g 16,000

FETGAT TR 8,000

I W T 5,000

(1) 77,200 (2) ¥8,800
(3) ¥3,200 (4) % 25,000
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69. The stand point of Exchange rates whméeks to define the relationship between
currencies based on relativélation, is called

(1) Fixed Rate (2) Floating Rate
(3) Purchasingower (4) InteredRate

70. Changing Global Marketing Communiaatifor each local market is called
(1) InternationaMarketing (2) CommunicatiorLinkage
(3) Communication Adaption (4) International Deal

71. In a market economy, when consumers infleetine allocation of sources through their
demand for products, it is populy called as what ?

(1) Cultural dynamics (2) Customer psychology
(3) Consumer sovereignty (4) Principle of maximization

72. How to enter in the Global Market ? Arrange serially.
A — Deciding wether to go abroad.
B — Deciding on the marketing organization.
C — Deciding how to enter the market.
D — Deciding on Marketing programme.
E — Deciding in which market to enter.

Codes :
(1 ADCEB (2) AB,C,D,E
3 AECD,B 4 B,D,CEA

73. When the two countries are having the gstlehdard, their currenaynits are either made
of gold specified purity and wght or freely convertible intgold of given purity at fixed
rate, this theory known as

(1) Purchasingowerparity (2) Mint parity theory
(3) Balance of payment theory (4) Stable Foreign Exchange Rate

74. Which among the following is asso@dt with high-income economic and Human
Development Index (HDI) ?

(1) TRID (2) TRIM
(3) GATT (4) OECD

75. In commodity market, the foreign exchange rate is determined as per
(1) Equilibrium Rate of Foreign Exchange
(2) Comparative Price of Foreign Currency
(3) Demand and Supply of Foreign Currency
(4) SDR
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69.

70.

71.

72.

73.

74.

75.

fafTar 33 1 gMeeRIvT YERITT T STERT a1l % drd & Taei i S IRy H & b
AT &, 3 FEAE |

(1) FEaxR (2) FdsT
(3) ha =i vIferd (4) =T

T SR ISR &g IRetd Arvdeh oo SS9 i T e & 2
(1) T faauE (2) TR foTehst
(3) Faw AR (4) I TR

e TRl IR STeee § SIS ScTal ol 310! W o HIeaW | TG & 3TEe i Weiterd
I &, T T AR T T gl STl & 2

(1) Epide st (2) SUHET T

(3) UM TORIAT (4) ATIHAIEHIT FHT HFTT

Sfvereh SIS | Y91 hd fohar STrar € 2569 § SaTEy

A — 70 &1 o Taser o fofe ST € & =@ |

B — fauuve T1e & Hay § o o |

C — ot &1 T 9IR | 69 UehR | WasT foham ST |
D — foaur risha & Gay | Hoig o |

E — o/ o o6 forg IR § ver e e © |

ETE
1)
(2)
3)
(4)

el 3T I & WU AEF (Tog TEEE) B ¢, Sl JST h1e 7 af [aHe IEdT 3R I & qi-
T S Bl & A1 3Y A X W I T I el GiH § g ©9 9 URafad At ST g €, 39
HET A &

n>>>

Omwo
0000
mooum

>wWwmw

(1) pF ifeRT THAT (2) <HaTeT gEaT g

(3) T T gt (4) fTer ot qmr R

frefafed 5 @ i 91 309 31 Srisaensti 3R A fas gaehiss (HDI) & Fefed & 2
(1) Zr3RMEEL (TRID) (2) 3FFARAETA. (TRIM)

(3) ST (GATT) (4) enEHEL (OECD)

T ISR H e faf g 53 e § 9 o o ar Heiid & € 2

(1) focen fafmg = gqfe 3 (2) ToRe gET o TorTeTh HEd

(3) fa=ett et i HiT 3K MUt (4) wEILAR. (SDR)
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